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RRIEH HHEITRI7ILE m3 30
mnsn FRAI7ILE t 69
XE# T XERT RAVPKEE R FR#15cm AR m 218
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HIEED m 9.1
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WET
YHEIA—nN—LA4 I
YHIA—N—L A t=4cm
FBRET7RAI77ILNEEHAF), REF7RI77ILLIH

A = 106.80 x 7.00 = 747.6 m2
OB LR
FTAIT7ILE t=4cm
A = T747.60 x 0.04 = 29.9 m3
W = 29.90 x 2.30 = 68.8 t



XE R T

XE#HRT
RA v FKEE#R FE#W=15cm &gy
L = 108.8 + 108.8 (SMENR) = 217.6 m
Rq v FKRERR H3E#RW=15cm sy
L = 11.2 (Fh3fR) = 11.2 m
A v FRE R B AR #EW=15cm pilikgic] (BHER)
L = 97.6 / 2 (R 4R) = 48.8 m



e F T

R HE 2 (B
INT)YR L-60DGH=125|178 X 125h X L  [A1 |EE3&ER 7.053 + 0.067 7.120 [m
aqok (81kg/1.8m) A2 |EEH 7.053 + 0.067 7120 [m
it 14.240 |m
NPS-60 132X 70h X L Al | TFiRflZERR| 2217 + 0.063 2.280 |m
(50.2kg/1.8m) LiFREISEE| 2217 + 0063 2.280 [m
A2 |FiR@I%&ESR| 2217 + 0.063 2.280 |m
LEiEISEER] 2217 +  0.063 2.280 |m
&Et 9.120 |m
ZRIEKH Al |BEERD 7.120 |m
T RIS ERR 2.280 |m
LRI EE 2.280 |m
A2 [EEER 7.120 |m
Tl E AR 2.280 |m
L RBIZER 2.280 |m
it 23.360 [m
FHIREXAR A x REm x BB E1.56 = |
E1 D16 XL Al |EEER 7 x 7050 x 156 770 |kg
A2 |EEED 7 % 7050 x 156 770 |ke
&5t 1540 |kg
E2 D16 XL Al | TRAISESR 4 x 2210 x  1.56 13.8 |kg
LREAISES 4 x 2210 x 156 138 |ke
A2 |FsmEISEE|l 4 x 2210 x 156 13.8 |kg
Eix@sEe| 4 x 2210 x 156 13.8 |kg
it 55.2 |kg
E3 D16 x 350 BIER-EvF x HEA HE (B
Al |EEE 7.053 = 0400 x 1 17 [&
A2 |EEER 7053 = 0400 x 1 17 | &
it 34 | K
AEXREESMxBEIEE 156 HE (B
34 x 0350 x 1560 18.6 |kg
ELBH7H— |TI D16 X 200 Al |BEEER 7053 =+ 0200 x 4+ 7.053 = 0400 x 1 157|&
T R S8R 2210 = 0200 x 4 44 | &
LRI EED 2210 + 0200 x 4 44 | K
A2 |EEER 7.053 = 0200 x 4+ 7.053 = 0400 x 1 157|&
T B S 5E ER 2210 + 0200 x 4 44 | K
EHREISEE| 2210 + 0200 x 4 44 | &
&5t 490 | A&
BEEaV—k 3h=24N/mm? FREE X FREFFRSxEIER s |
“1mHYVOHRTRD xEIER
Al |EEED ( 1000 x 0155 — 0009403 ) x 7.053 1.027 |m®
TyEISEER|( 1.000 x 0100 — 0132 x 0070 ) x 2217 0201 |m?
EsEIgEEs|( 1000 x 0100 — 0.132 x 0070 ) x 2217 0201 [m?
A2 |EEER ( 1000 x 0155 — 0009403 ) x 7.053 1.027 |m?®
TyEIS$EER|( 1.000 x 0100 — 0.132 x 0070 ) x 2217 0201 |m3
L EEISEEE|( 1.000 x 0100 — 0132 x 0070 ) x 2217 0201 |m®
A5t 2.858 |m?®
—IL# ERI)a—2% ML R x ERENE x [F& x tLE x 10° #HE |[EA
tEE=1.39 Al 2710 x 0150 x 0020 x 139 x 1000 11.301 |kg
A2 2710 x 0150 x 0020 x 139 x 1000 11.301 |keg
it 22.602 |kg
NV T THE LAV R BIES HE |BEAM
Al 0403 + 0.100 + 0250 + 0302 + 0300 +
0403 + 0.100 + 0250 + 0302 + 0.300 2.710 |m
A2 0403 + 0.100 + 0250 + 0302 + 0300 +
0403 + 0.100 + 0250 + 0302 + 0.300 2.710 |m
=X 5420 |m




R HE HE (B

£ E i aVHY—MME |A1 [EEE ( 0500 + 0350 ) x 0.155 x 7.053 0.929 [m3
$HEE (0500 + 0350 ) x 0.100 x 2217 0.377 |m3

A2 |E=EE ( 0500 + 0350 ) x 0.155 x 7.053 0.929 [m3

$HEE (0500 + 0350 ) x 0.100 x 2217 0.377 |m3

&% 2612 [m3




HKEEIRT
HKEEIR

IJLXTILIA T $20
N = 4
L = 3.56 +
IEHEE
N = 4 X

3.65

3.50

3. 61

24 8



BRMWIET

VUEINEET
BEEFIALE
L = TR&Y = 10.9 m
BS Al A2
1 1.00 0.50
2 1.70 0.80
3 1.20 0.90
4 0.80
5 0.70
6 0.60
7 1.00
8 1.70
MEF ] 3.90 7.00
A&t 10.90
EEIARE fifm  0.30 m
N = 10.9 / 0.30 = 37 &

EAM TRE TS

IXEYRTAE 4 g (FA—h—h4anskY)

ORAERYEHE 43 x 1.15 = 49,45 g

49.45 x 37 / 1000 = 1.83 kg

=
1

o —IL# IARE

g 30 mm 0 RE 37 %
E 3 mm teE 1.7
W = 109 x 0.03 X 0.003 x 1.37 x 1.7
x 1000 = 2.28 kg
BiHT
HEEMRS 221y HY
Al = 3.59 x 1.00 = 3.59
A2 = 3.69 x 1.00 = 3.69
A3 = ( 266 + 1.81 )/ 2 x 239
+ 1.81 x 0.8 / 2 = 6.15
M = ( 1.97 + 1.08 )/ 2 x 240
+ 1.08 x 0.53 / 2 = 3.95
Ab = 3.54 x 1.00 = 3.54
A6 = 3.64 x 1.00 = 3.64
A7 = ( 2.67 + 1.8 )/ 2 x 237
+ 1.83 x 0.87 / 2 = 6.13

:

St 30.69 m2



